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2.[4 ] The homogeneous wire ABCD is bent as
shown. Locate the centroid of the wire.
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1. () 60N < 80 N -
2. X =314 mm, Y =981mm
3. (@ x =120 mm, y = 160 mm
(b) P = 109.9 N
(C) hmax = 480 mm ( )
4. (@) 7 = U= 2, I =0393
. x =r, y = 37T7", . = 0. r
(b) 7, = 0.1098 r*
(c) L = 0.630 +*
5.(@ y =2 =08334q, [I"=3d

(b) 7, = ma®

(c) I = 0.611 ma’
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1. (@) ( , , , . v o)

(b) : F = p, N = (0.30) (200 N) = 60 N,
. F = u, N = (0.40) (200 N) = 80 N,

2 L = 7 (160 mm) = 502.7 mm
T = _% (160 mm) = —% (320 mm) = -101.9 mm
y = 160 mm
L = 280 mm
x = % (280 mm) = 140 mm
y =0
L =180 mm

= (280 mm) - %(180 mm) cos60° = 235 mm
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y = %(180 mm) sin60° = 77.94 mm

> L = (502.7 + 280 + 180) mm = 962.7 mm
S(z L) = (-101.9 mm)(502.7 mm) + (140 mm)(280 mm) + (235 mm)(180 mm)

= 30,275 mm?®

S(yL) = (160 mm)(502.7 mm) + (0)(280 mm) + (77.94 mm)(180 mm)
= 94,461 mm?

— _ X(zL) 30,275 mm?

X = ZL = 62T mm 31.4 mm

—  DyL) 94,461 mm>

Y ZL T 962.7mm 98.1 mm

3. z = % (360 mm) = 120 mm
y = % (480 mm) = 160 mm
W = (32 kg)(9.81 m/s®) = 313.92 N

(0)SF,=0; N- W=0 N = W =314 N
F... = u,N = (0.35)(314 N) = 109.87 N
SF.=0; P-F, =0 P=F,_ =1099 N o
—
=Mz =h-P - (240 mm) W =0 . l
h = (240 mm) %/ = (240 mm) % 240
= 685.7 mm > 480 mm “F5
h,.. =480 mm ( ) NT

max



4. @ =z =r, y = 3" L= émﬁ = 0.393 *
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